CEPASE L= Sav

EANEMEETEHEE
(B) SF5E4A1E  (B) SH6E3F31E
#HERILEAXRETHEEUHES (B4 - A
B T # B LEERE (A AIEERE (B) # e (A)-(B)

| IR | &EUE 13,510, 750 13, 740, 240 A229, 490
| | & |BHftEmE 17,743,133 19, 836, 728 A2,093, 595
E BEREHESING 171,889, 194 178, 357,510 A6, 468, 316
3 ZEEINE 263, 698, 560 263,017,685 680, 875
& FEINE 22,463, 300 19,897, 710 2,565, 590
)] NEEREERINE 796, 852, 305 840, 211, 052 A43, 358, 747
1 [EERIUY—ERESFEINGE 95, 330, 651 87,962,510 7,368, 141
b Z DD YR EE 5,482,978 22,078, 7159 A16, 595, 781
» H—E R FEIUNEEE (1) 1, 386, 970, 871 1,445,102, 194 Ab8, 131, 323
BHIEIAGE 1,192, 006, 736 1,197,138, 796 Ab, 132,060
Al x & 228, 855, 809 232,540, 380 A3, 684, 571
EHBEB 217,022, 407 30,732,672 A3, 710, 265
B e &R 11, 650, 145 11, 325, 295 324, 850
HEMHAZE 7,294, 091 7,136, 781 157, 310
HimERE 217,228, 521 27,130, 796 97,725
EEHMEEFHAEL SR 6,933,130 A6, 733, 632 A199, 498
ZOtDER 103, 720 0 103, 720
Y—EXFEERH(2) 1,487, 228, 299 1,499, 271, 088 A12,042, 789
—ERXEEERHELZ(3)=(1)-(2) A100, 257, 428 Ab4, 168, 894 A46,088, 534
| IR | ZEF BB LU 9,782 9,452 330
| | & | —ERFESIREE (4) 9,782 9,452 330
E|& | XILFE 134, 866 222,687 A87, 821
2| B |Fotho—ERFESNER 0 132, 000 A132,000
& Y—ERXFESNERE(5) 134, 866 354, 687 A219, 821
)] Y—ERXFESMERZEZE(6)=(4)-(5) A125,084 A345, 235 220, 151
BEEHELE(7)=(3)+(6) 2100, 382, 512 Ab4.514,129 245,868, 383
| I [ EREHEEFEEISINE 0 3,321,000 A3, 321, 000
Al | & |EEEEZELE 0 747, 440 AT47, 440
1 [E 7€ & E ST AN 250, 000 60, 000 190, 000
A YRR EEET (8) 250, 000 4,128, 440 A3, 878, 440
D | B |\BEEEEFTINE - LB 75, 268 56, 745 18, 523
BB | EEHEEEENELEEI 0 3,321,000 A3, 321, 000
=R B R (9) 75, 268 3,377, 745 A3, 302, 477
EREEEEZE (10) =(8)—(9) 174,732 750, 695 Ab5T75,963
LRSI ESE (11)=(7)+(10) A100, 207, 780 Ab3, 763,434 A46, 444, 346

i ATHAIE R BN ZE%E (12) 329, 541, 724 367,083,075 A37, 541, 351
i LHIRGMREEEEZE (13)=>01)+12) 229, 333,944 313,319, 641 283,985, 697
& HAREHEERZE (14) 0 0 0
2] H & HAA%E (15) 1,861,775 16, 228, 513 A14, 366, 738
1 Z D DFIRILEENAR%E (16) 0 0 0
prd ZDMDBIESTEIEENT) A67,992, 786 6, 430 67,999, 216
= KA B R 2= %8 (18=13+14+15+16-17) 299, 188, 505 329, 541, 724 A30, 353, 219




